SOLHW 6.2

January 24, 2018 3:56 PM

Name:

Math 10/11 Enriched HW 6.2 Combinations and Repeated Objects

1. Evaluate the following:

a) 5C; b) 9C, < a< g3 .4 c)12C, =\ d) 4C; = \= Fm‘vsw
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2. Solve each equation for “n”
a) nC, =10 b)6C, =20 c) 10C, =120
SRS SRR LS L2 e, e
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3. In how many ways can a 3 person committee be selected from 67
. 6! —
35

4. A committee of 5 is to be selected from a group of 10 to plan a school trip. How many different
committees can be selected? (OCs = (o

s'sl 2

~ 7—4

5. A map is to be coloured using exactly four colours. If seven colours are available, how many ways can
the four colours be chosen? S -

}Cg\:‘q,(\,: 1’ ¢S "/%

6. A student must choose 3 books from a list of 9 books. How many different 3 book choices does the

student have? qc\ _ 3/0( ;(H I

7. Two different numbers are chosen from the set {2, 3, 5, 7} and multiplied together. How many

different products are possible? pa 2 L6 uss o
<
3 —s -G = < RSSO

8. Challenge: If three numbers are chosen from the set {2, 3, 4, 6, 8, 12} and multiplied together, how

©

many different products are possible?

—
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10.

11.

12.

13.

14.

15.

16.

(e

A basketball league has 4 teams. If each team is scheduled to play Mr team twice in a season,
how many games are there in a season?

TR 2N
DS

© < = L 6 Ry
If a baseball league has 8 teams and each team is scheduled to piay g%ér team fluree times a season,
how many games will there be?
KLL *x 5
2 xS

2 L4 eSS

If there are 12 people in a room and each person shakes hands with every other person, then how
many handshakes will there be? - ©atm Varne twews s RIN ZM

G = e x W\ g
— =

At a women'’s double tennis tournament, there were three teams of two women. Each woman shook
hands once with each of the players on another team. How many handshakes were there?

o b Loman) LKE
@ @ @ N W VUURT VP I s \\-'\»\WS >

S SN S 6 = \2__
A regular octagon has eight vertices lettered A, B, C, D, E, F, G, and H. How many triangles can be

constructed if we must use any three of the vertices?
= ¥ X &
66 = 2T s,
\ - 3

How many diagonals does a hexagon have? A diagonal is a line that connects two vertices and isn’t a
side. P NSIE - A Stoe & WSU B DiEsr g N

LDC—W._/Q) = \f/lx f—ﬂ

How many diagonals does a regular polygon with “n” sides have? Give your answer as an expression in

terms of “n”.
. Y,

In how many different ways can the letters In the word “LOOP” be scrambled?
AR
21 - Yy
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17. How many ways can you select three different letters to form a word, where the letters have to be in
alphabetical order?

e lomed 3 Dlrfeend U A Owade TR
25(:5 mw‘ gg w“.\'u B N Mwwmm

18. How many distinct arrangements can be made from the letters In the word “BETTER”

2L =h L. e SARZxSN

=

2T 22 &y
:ZDKQ"\?Q/_

19. In many distinct ways can 4 green and 3 blue chips be arranged in a row?
. - — Sy
| \ A~
4 K

20. How many different nine-digit numbers can be formed using three 5’s, two 7’s, and four 9’s?

N yar4 N - = ﬁ!
N 4 sian %\,z\,%‘. 2y 'yl
_ A AF KT (e
%/A = = \L‘QO//

21. How many six letter words can be created using three A’s and three B’s if no two A’s can be next to

each other? o LOlads WS ?)'5 e\ s Lowe ?&k&)&_&
PVl T N\

% P tGo= ()

—— =

22. How many five-letter words are there which use only the letters” A” and/or “B”, and in which there are
no consecutive occurrences of B? (For example, AAAAA and ABAAB qualify, but ABBAB does not.)

SQ%/‘"@ %@

— a' P"_Q_‘P‘_ SC\:@
4B > Y @
3{3\‘5_-»_,@,10‘_@(_%&:@ s
2As — _ A& =20-0
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23. In how many ways can 3 head chefs and 12 junior chefs be selected from a group of 20 applicants?

ZOCv> X ﬂ_(-'\l-

= 22X\G xR F %l » IS % I \3
L%y NSNS Y.

24. Five students will work on problem-solving in groups. Any group can consist of 1 to 5 students and
each student must belong to exactly one group. In how many ways can the 5 students be divided into

groups? + 5 Stwmeesh - AR, D X
*S o oo @LLID—

Gty o R TG = T S5y
T TSN Tt
m = SK= (Qw‘,\x :__g

RS SRR
~\ L = -——5 S S
-—*-\»..A-v\

25. Challenge: How many different 4 letter words can be formed using 4 of the 7 letters in the word
“osoyoos” O W O —= ®“'W\ ,

® 30’5—*"__,__%*2-=@

\
6y 20, % Sk )
©° S = = @ ( /s

@ (NG O’\ — hm\ SV Bu,
26. How many ways can 8 people work in 4 different ofﬁcgs if 2 people are in each office and 2 individuals

refuse to work together?  * Suppsxe M Y SFFILE T TWE SWME, capwe Bl MRTee
O = weys To AEEANAS PU R WM~ RENTRET WS

3G =60 MG 20 D4 e Wnex T ppl Me< Teaclune (5g)

<\ Y x 6l x YC, <210
= UTF WS v xs ) = G+ WIMSTIMEY waNT BE
Mo L = Y BUS « 2%y - <. ’Bhﬂaal.:
= \DS, X,(){,(y lDS-—lg = qo

27. Challenge: Twenty (20) people come to a party. We know that 11 of the peopE—a're friends with
everyone else who came to the party. Also, the other 9 people each have exactly 13 friends at the
party. Each person shakes hands with each of his/her friends. What is total number of handshakes?

®\\PVL KNS ey orfS. o T T nave (] hanosuavizs
®‘T W’L -.wu«\ NAVE \?,(«\;\ws, Se TAM NAVE 2 NANOEWRAEES.
@ €hom NanosnPe @'6‘76‘&‘(’{-‘0

WA+ axi> | aoq + (12 = 326 —|
. - =z — (75/
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